

**On the inverse problem of the Sturm-Liouville type
for a linear elliptic partial differential equation
with constant coefficients of the second order**

by JAN BOCHENEK (Kraków)

Introduction. The purpose of the present paper is to transfer some theorems on the so-called inverse problem of the Sturm-Liouville type known for the ordinary differential equations (cf. [10]) and a for special class of partial differential equations (cf. [9], [4]), to a little more general equations. In particular, we deal in this paper with a certain theorem of Ambarzumian [1] and with its generalizations (see [9], [4]).

Let D be a bounded domain in the space E^m with a sufficiently regular boundary ∂D . We assume that the boundary ∂D of D is so regular that there exist a Green function and sequences of eigenvalues and eigenfunctions for the value problem which is treated below. In the sequel we denote by $X = (x_1, \dots, x_m)$ and $Y = (y_1, \dots, y_m)$ the points of E^m .

We shall consider the problem of eigenvalues and eigenfunctions for the differential equation of the form

$$(1) \quad L(u) + [\lambda - q(X)]u = 0,$$

with the boundary condition

$$(2) \quad \frac{du}{dn} - h(X)u = 0 \text{ on } \partial D - \Gamma, \quad u = 0 \text{ on } \Gamma,$$

where

$$(3) \quad L(u) = \sum_{i,j=1}^m a_{ij} \frac{\partial^2 u}{\partial x_i \partial x_j},$$

$$(4) \quad \frac{du}{dn} = \sum_{i,j=1}^m a_{ij} \frac{\partial u}{\partial x_j} \cos(n, x_i),$$

n — being the interior normal to ∂D , and Γ denotes an $(m-1)$ -dimensional part of ∂D (Γ being connected or not). We assume that $a_{ij} = a_{ji}$

($i, j = 1, \dots, m$) are constant, the quadratic form $\sum_{i,j=1}^m a_{ij} \xi_i \xi_j$ is positive definite and $h(X) \geq 0$ is a continuous function on ∂D . The boundary condition (2) may be taken in the sense of generalization (cf. [3]).

1. The Green function and eigenvalues and eigenfunctions of problem (1) (2). Let us denote by $G(X, Y, \lambda)$ the Green function and by $\{\lambda_n\}$, $\{\varphi_n(X)\}$ the sequences of eigenvalues and eigenfunctions of problem (1) (2), respectively. We assume that $\lambda \neq \lambda_n$ ($n = 1, 2, 3, \dots$) and that $\{\varphi_n(X)\}$ form an orthonormal set of functions in D . We denote by $G^{(n)}(X, Y, \lambda)$ the iterated Green functions. For a definition and fundamental properties of the functions $G^{(n)}(X, Y, \lambda)$, see [12] or [4]. In the sequel by $G_0(X, Y, \lambda)$ we shall mean the Green function of the whole E^m with respect to equation (1) when $q(X) \equiv 0$.

Let us assume that the parameter λ in equation (1) is a real negative number and write $\varrho = -\lambda$, where $\varrho > 0$. It is known (see [2] and [12]) that

$$G_0(X, Y, -\varrho) = a^{\frac{1}{2}} (2\pi)^{-\frac{m}{2}} r^{-\left(\frac{m}{2}-1\right)} \varrho^{\frac{m}{4}-\frac{1}{2}} K_{\frac{m}{2}-1}(r\sqrt{\varrho}),$$

where

$$r^2 = \sum_{i,j=1}^m A_{ij} (x_i - x_j)(y_i - y_j), \quad a = \det \|a_{ij}\|,$$

A_{ij} are the elements of the inverse matrix to the matrix $\|a_{ij}\|$ and $K_{\frac{m}{2}-1}(t)$ is the modified Bessel function of the second kind of $(\frac{1}{2}m-1)$ -th order.

Using the properties of the Green functions $G(X, Y, \lambda)$ and $G_0(X, Y, \lambda)$ and the form of $G_0(X, Y, \lambda)$ and its iterated Green functions and using also the asymptotic distribution of eigenvalues of problem (1) (2), we can prove the following formula:

$$(5) \quad \sum_{n=1}^{\infty} \frac{\psi_n^2(X)}{(\mu_n + \varrho)^{k+1}} = \frac{1}{k!} \{a^{\frac{1}{2}} (2\pi)^{-m} \Gamma(k+1 - m/2) \varrho^{\frac{m}{2}-k-1} - \Phi_k(X, \varrho)\}.$$

The proof of formula (5) is quite similar to the proof of an analogous formula in [4]. In formula (5) $\{\mu_n\}$ and $\{\psi_n(X)\}$ denote the sequences of eigenvalues and eigenfunctions of problem (1) (2), respectively, in the case $q(X) \equiv 0$ in D and $\Phi_k(X, \varrho)$ is a continuous function in D satisfying the condition

$$(6) \quad \int_D |\Phi_k(X, \varrho)| dX = o(\varrho^{\frac{m}{2}-k-1}) \quad \text{for } \varrho \rightarrow +\infty,$$

where k in (5) and (6) is a positive integer $k = [m/2]$ (here $[m/2]$ denotes the entire part of $m/2$).

It follows from (5) by Dini’s well-known theorem that the series on the left-hand of (5) is uniformly convergent in the domain D . Therefore, integrating over the domain D , we have

$$(7) \quad \sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^{k+1}} = \frac{|D| a^{\frac{1}{2}} \Gamma\left(k+1 - \frac{m}{2}\right)}{k! (2\pi)^m \varrho^{k+1-m/2}} - \frac{1}{k!} \int_D \Phi_k(X, \varrho) dX,$$

where $|D|$ is a measure of D .

2. Some properties of the trace of a linear operator. In this section we shall give a definition of the trace of a linear operator and we shall prove some lemmas, which will be used in the sequel. The trace of a linear operator A on a Hilbert space is the series

$$(8) \quad \sum_{n=1}^{\infty} (Ax_n, x_n),$$

where $\{x_n\}$ denotes any orthonormal set of vectors in H (cf. [7], p. 125).

If series (8) is convergent for any $\{x_n\}$, we say that A has a finite trace. In the sequel the trace of the operator A will be denoted by $S(A)$. If the operator A has a finite trace, then the sum (8) is independent of $\{x_n\}$ (cf. [7], p. 127).

If the operator A is positive, then the sum (8) has the same value (finite or not) for any $\{x_n\}$ (cf. [7], p. 126).

Let B be a completely continuous operator on H . Let us write $C = (B^*B)^{1/2}$, where B^* is the adjoint operator to B . Evidently the operator C is a completely continuous and self-adjoint operator on H . We shall denote by $\{s_n(B)\}$ the decreasing sequence of all eigenvalues of C with all multiplicities listed (cf. [7], p. 46). By σ_p ($p > 0$) we denote the class of completely continuous operators B such that

$$|B|_p = \left\{ \sum_{n=1}^{\infty} [s_n(B)]^p \right\}^{1/p} < \infty.$$

If $B \in \sigma_p$ and K is a bounded operator on H , then BK and KB belong to σ_p , and $|BK|_p \leq \|K\| |B|_p$ and $|KB|_p \leq \|K\| |B|_p$.

In the sequel we shall make use of the following two lemmas (see [7], p. 121 and p. 127).

LEMMA 1. *If the operators $B_j \in \sigma_{p_j}$ ($j = 1, \dots, l$) and if $\sum_{j=1}^l p_j^{-1} = p^{-1} \leq 1$, then operator $B = B_1 B_2 \dots B_l$ belongs to σ_p and $|B|_p \leq |B_1|_{p_1} \dots |B_l|_{p_l}$.*

LEMMA 2. *The necessary and sufficient condition for the existence of a finite trace of B is that $B \in \sigma_1$ and then*

$$|S(B)| \leq |B|_1 = \sum_{n=1}^{\infty} s_n(B).$$

Let us denote by T a self-adjoint and positive operator and by V a self-adjoint and bounded operator on H . By T_ϱ we denote the operator $T + \varrho I$, where I is the identity operator on H , and ϱ is a real positive number such that the operators T_ϱ and $T_\varrho + V$ are the positively defined operators on H . We assume that the operators T_ϱ^{-1} and $(T_\varrho + V)^{-1}$ are completely continuous operators. We shall denote by $\{\mu_n\}$ and $\{\lambda_n\}$ the increasing sequences of all eigenvalues of T and $T + V$, respectively, and by $\{x_n\}$ and $\{y_n\}$ the corresponding orthonormal sequences of eigenvectors. It follows from these assumptions that $\lim \mu_n = \lim \lambda_n = +\infty$, and $\{x_n\}$ and $\{y_n\}$ form the complete orthonormal systems in H (cf. [11], p. 579).

LEMMA 3. *If the series $\sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^{k+1}}$ is convergent and C_1, \dots, C_k are bounded operators on H , then the operator $A = T_\varrho^{-1} C_1 T_\varrho^{-1} \dots T_\varrho^{-1} C_k T_\varrho^{-1}$ has a finite trace and*

$$|S(A)| \leq \|C_1\| \dots \|C_k\| \sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^{k+1}}.$$

Proof. We see that $A = A_1 A_2 \dots A_{k+1}$, where $A_1 = T_\varrho^{-1} C_1$, $A_2 = T_\varrho^{-1} C_2$, \dots , $A_k = T_\varrho^{-1} C_k$, $A_{k+1} = T_\varrho^{-1}$. Since $\sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^{k+1}}$ is convergent so the operator $T_\varrho^{-1} \in \sigma_{k+1}$, and from this we have $A_j \in \sigma_{k+1}$ ($j = 1, \dots, k+1$). By Lemma 1, where $p_j = k+1$ ($j = 1, \dots, k+1$), we have $A \in \sigma_1$. In virtue of Lemma 2 this yields Lemma 3.

LEMMA 4. *If the series $\sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^{k+1}}$ is convergent for sufficiently large ϱ , then*

$$(9) \quad \sum_{n=1}^{\infty} \left\{ \frac{1}{(\mu_n + \varrho)^k} - \frac{1}{(\lambda_n + \varrho)^k} \right\} = S\{T_\varrho^{-k} - (T_\varrho + V)^{-k}\}.$$

Proof. Let ϱ be a real positive number such that $\mu_1 + \varrho > \|V\|$. First we shall prove that the operator

$$(10) \quad T_\varrho^{-k} - (T_\varrho + V)^{-k}$$

has a finite trace. Indeed, operator (10) is a completely continuous operator. We observe that

$$\begin{aligned} (\mathbf{T}_\varrho + \mathbf{V})^{-1} &= \mathbf{T}_\varrho^{-1}(\mathbf{I} + \mathbf{V}\mathbf{T}_\varrho^{-1})^{-1} = \mathbf{T}_\varrho^{-1} \sum_{n=0}^{\infty} (-1)^n (\mathbf{V}\mathbf{T}_\varrho^{-1})^n \\ &= \mathbf{T}_\varrho^{-1} - \mathbf{T}_\varrho^{-1}\mathbf{V}\mathbf{T}_\varrho^{-1} + \mathbf{T}_\varrho^{-1}\mathbf{G}_\varrho\mathbf{T}_\varrho^{-1}, \end{aligned}$$

where

$$\mathbf{G}_\varrho = \sum_{i=2}^{\infty} (-1)^i (\mathbf{V}\mathbf{T}_\varrho^{-1})^{i-1} \mathbf{V}.$$

By the assumption $\mu_1 + \varrho > \|\mathbf{V}\|$, the series $\sum_{i=0}^{\infty} (-1)^i (\mathbf{V}\mathbf{T}_\varrho^{-1})^i$ is convergent, and we have

$$\|\mathbf{G}_\varrho\| \leq \frac{K}{\mu_1 + \varrho},$$

where K is a constant independent of ϱ . Continuing, we see that

$$\begin{aligned} \mathbf{T}_\varrho^{-k} - (\mathbf{T}_\varrho + \mathbf{V})^{-k} &= \mathbf{T}_\varrho^{-k} - [\mathbf{T}_\varrho^{-1}(\mathbf{I} + \mathbf{V}\mathbf{T}_\varrho^{-1})^{-1}]^k \\ &= \mathbf{T}_\varrho^{-k} - [\mathbf{T}_\varrho^{-1} - \mathbf{T}_\varrho^{-1}\mathbf{V}\mathbf{T}_\varrho^{-1} + \mathbf{T}_\varrho^{-1}\mathbf{G}_\varrho\mathbf{T}_\varrho^{-1}]^k. \end{aligned}$$

From the last equality we have

$$(11) \quad \mathbf{T}_\varrho^{-k} - (\mathbf{T}_\varrho + \mathbf{V})^{-k} = \mathbf{B}_\varrho + \mathbf{F}_\varrho,$$

where

$$\mathbf{B}_\varrho = \mathbf{T}_\varrho^{-k}\mathbf{V}\mathbf{T}_\varrho^{-1} + \dots + \mathbf{T}_\varrho^{-1}\mathbf{V}\mathbf{T}_\varrho^{-k},$$

but \mathbf{F}_ϱ is a sum of a finite number of operators of the form

$$\mathbf{T}_\varrho^{-1}\mathbf{C}_1\mathbf{T}_\varrho^{-1}\mathbf{C}_2 \dots \mathbf{T}_\varrho^{-1}\mathbf{C}_k\mathbf{T}_\varrho^{-1},$$

where $\mathbf{C}_1, \dots, \mathbf{C}_k$ are bounded operators and at least for one \mathbf{C}_j we have

$$\|\mathbf{C}_j\| \leq \frac{L}{\mu_1 + \varrho},$$

where L is a constant independent of ϱ , $1 \leq j \leq k$. It follows from this, by Lemma 3, that the operators \mathbf{B}_ϱ and \mathbf{F}_ϱ have finite traces and

$$(12) \quad |S(\mathbf{F}_\varrho)| \leq \frac{M}{\mu_1 + \varrho} \sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^{k+1}},$$

whence operator (10) has a finite trace.

Expressing the trace of operator (10) by $\{x_n\}$ and next by $\{y_n\}$, we have

$$(13) \quad \sum_{n=1}^{\infty} \left\{ \frac{1}{(\mu_n + \varrho)^k} - ((\mathbf{T}_\varrho + \mathbf{V})^{-k} x_n, x_n) \right\} = \sum_{n=1}^{\infty} \left\{ (\mathbf{T}_\varrho^{-k} y_n, y_n) - \frac{1}{(\lambda_n + \varrho)^k} \right\}.$$

By the evaluation of *Ky Fan* (cf. [6]) we conclude that

$$\sum_{n=1}^N ((T_\varrho + V)^{-k} x_n, x_n) \leq \sum_{n=1}^N \frac{1}{(\lambda_n + \varrho)^k},$$

$$\sum_{n=1}^N (T_\varrho^{-k} y_n, y_n) \leq \sum_{n=1}^N \frac{1}{(\mu_n + \varrho)^k}.$$

From this we have

$$\sum_{n=1}^N \left\{ (T_\varrho^{-k} y_n, y_n) - \frac{1}{(\lambda_n + \varrho)^k} \right\} \leq \sum_{n=1}^N \left\{ \frac{1}{(\mu_n + \varrho)^k} - \frac{1}{(\lambda_n + \varrho)^k} \right\}$$

$$\leq \sum_{n=1}^N \left\{ \frac{1}{(\mu_n + \varrho)^k} - ((T_\varrho + V)^{-k} x_n, x_n) \right\}.$$

If $N \rightarrow +\infty$, then, by (13), the last inequality implies (9).

LEMMA 5. If 1° $\sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^2}$ is convergent for sufficiently large ϱ , and 2° $\sum_{n=2}^{\infty} \left(\frac{\lambda_n}{\mu_n} - 1 \right)$ is convergent, then

$$(14) \quad \lim_{\varrho \rightarrow \infty} \varrho S(T_\varrho^{-1} V T_\varrho^{-1}) = 0.$$

Proof. Let ϱ be a real positive number such that $\mu_1 + \varrho > \|V\|$. Then, as in Lemma 4, we have

$$(15) \quad T_\varrho^{-1} - (T_\varrho + V)^{-1} = T_\varrho^{-1} V T_\varrho^{-1} - T_\varrho^{-1} G_\varrho T_\varrho^{-1},$$

where G_ϱ is the operator from Lemma 4. Hence by (15)

$$(16) \quad S\{T_\varrho^{-1} - (T_\varrho + V)^{-1}\} = S(T_\varrho^{-1} V T_\varrho^{-1}) - S(T_\varrho^{-1} G_\varrho T_\varrho^{-1}).$$

Let us remark that

$$(17) \quad |S(T_\varrho^{-1} G_\varrho T_\varrho^{-1})| \leq \|G_\varrho\| \sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^2} \leq \frac{K}{\mu_1 + \varrho} \sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^2}.$$

By (17) and since the series $\sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^2}$ is uniformly convergent in ϱ , we have

$$(18) \quad \lim_{\varrho \rightarrow \infty} \varrho S(T_\varrho^{-1} G_\varrho T_\varrho^{-1}) = 0.$$

In virtue (16), (18) and (9) for $k = 1$, we have

$$(19) \quad \lim_{\varrho \rightarrow \infty} \varrho \sum_{n=1}^{\infty} \left\{ \frac{1}{\mu_n + \varrho} - \frac{1}{\lambda_n + \varrho} \right\} = \lim_{\varrho \rightarrow \infty} \varrho S(T_\varrho^{-1} V_\varrho T_\varrho^{-1}).$$

By assumption 2° of Lemma 5 and by Lemma 6 of paper [4], the left-hand side of (19) is equal to zero; this yields Lemma 5.

LEMMA 6. If 1° $\sum_{n=1}^{\infty} \frac{1}{(\mu_n + \varrho)^{k+1}}$ is convergent for sufficiently large ϱ , and 2° $\sum_{n=2}^{\infty} \left(\frac{1}{\mu_n} - \frac{1}{\lambda_n} \right)$ is convergent, then

$$(20) \quad \lim_{\varrho \rightarrow \infty} \varrho^{k-1} \{S(\mathbf{B}_\varrho) + S(\mathbf{F}_\varrho)\} = 0,$$

where the operators \mathbf{B}_ϱ and \mathbf{F}_ϱ are defined in Lemma 4.

Proof. Let ϱ be a real positive number such that $\mu_1 + \varrho > \|V\|$. Then by (11) we have

$$(21) \quad S\{T_\varrho^{-k} - (T_\varrho + V)^{-k}\} = S(\mathbf{B}_\varrho) + S(\mathbf{F}_\varrho).$$

By (9) and (21) we get

$$\sum_{n=1}^{\infty} \left\{ \frac{1}{(\mu_n + \varrho)^k} - \frac{1}{(\lambda_n + \varrho)^k} \right\} = S(\mathbf{B}_\varrho) + S(\mathbf{F}_\varrho).$$

Therefore

$$(22) \quad \lim_{\varrho \rightarrow \infty} \varrho^{k-1} \sum_{n=1}^{\infty} \left\{ \frac{1}{(\mu_n + \varrho)^k} - \frac{1}{(\lambda_n + \varrho)^k} \right\} = \lim_{\varrho \rightarrow \infty} \varrho^{k-1} \{S(\mathbf{B}_\varrho) + S(\mathbf{F}_\varrho)\}.$$

By assumption 2° of Lemma 6 and by Lemma 7 of paper [4], the left-hand side of (22) is equal to zero, this yields Lemma 6.

3. Dependence of the function $q(X)$ on the eigenvalues of problem (1) (2). In the domain D defined in the introduction to this paper we shall consider the problem of the eigenvalues and eigenfunctions for equation (1) with the boundary condition

$$(23) \quad \frac{du}{dv} = 0 \quad \text{on } \partial D.$$

Let $\{\lambda_n\}$ denote the increasing sequence of eigenvalues of problem (1) (23) and let $\{\varphi_n(X)\}$ denote the corresponding orthonormal sequence of eigenfunctions of this problem. Further, by $\{\mu_n\}$ and $\{\psi_n(X)\}$ we denote

the sequences of eigenvalues and eigenfunctions of problem (1) (23) in the case $q(X) \equiv 0$ in D .

In the case of E^2 and E^3 we have the following

THEOREM 1. *If 1° $q(X)$ is a continuous function in the domain D , and 2° $\sum_{n=2}^{\infty} \left(\frac{\lambda_n}{\mu_n} - 1 \right)$ is convergent, then*

$$(24) \quad \int_D q(X) dX = 0.$$

Proof. Let $H = L_2(D)$ be a Hilbert space of functions square-sumable on D , and let T be a self-adjoint operator on H , which is a Friedrichs expansion of the operator L defined by (3), while V is the multiplier operator $q(X)$. Since $k = [m/2] = 1$; then by (6) and (7) and by the assumptions of Theorem 1, the assumptions of Lemma 5 are satisfied. In virtue of Lemma 5, (14) holds. We express the trace of the operator from (14) by the sequence $\{\psi_n(X)\}$. We get

$$(25) \quad S(T_e^{-1}VT_e^{-1}) = \sum_{n=1}^{\infty} \frac{(V\psi_n, \psi_n)}{(\mu_n + \varrho)^2}.$$

By the definition of the operator V and by the uniform convergence of the series in formula (5) with respect to $X \in D$, (25) may be written in the form

$$(26) \quad S(T_e^{-1}VT_e^{-1}) = \left(q(X), \sum_{n=1}^{\infty} \frac{\psi_n^2(X)}{(\mu_n + \varrho)^2} \right).$$

Using formula (5) for $k = 1$, we get by (26)

$$(27) \quad S(T_e^{-1}VT_e^{-1}) = a^{1/2} \frac{\Gamma(2-m/2)}{(2\sqrt{\pi})^m} \varrho^{\frac{m}{2}-2} (q, 1) - \int_D \Phi_1(X, \varrho) q(X) dX.$$

Since

$$\left| \int_D \Phi_1(X, \varrho) q(X) dX \right| \leq \max_{X \in D} |q(X)| \int_D |\Phi_1(X, \varrho)| dX,$$

we have by (6)

$$(28) \quad \int_D \Phi_1(X, \varrho) q(X) dX = o(\varrho^{\frac{m}{2}-2}).$$

In virtue of (14), (27) and (28) we have

$$(29) \quad \lim_{\varrho \rightarrow \infty} \left\{ a^{1/2} \frac{\Gamma(2-m/2)}{(2\sqrt{\pi})^m} \varrho^{\frac{m}{2}-1} (q, 1) - o(\varrho^{\frac{m}{2}-1}) \right\} = 0.$$

Since $m = 2$ or $m = 3$, (29) is possible only when

$$(30) \quad (q, 1) = 0.$$

It is obvious that (30) is equivalent to (25), and this concludes the proof of Theorem 1.

In the case of E^m ($m \geq 4$) we have the following

THEOREM 2. *If 1° $q(X)$ is a continuous function in the domain D , and 2° $\sum_{n=2}^{\infty} \left(\frac{1}{\mu_n} - \frac{1}{\lambda_n} \right)$ is convergent, then*

$$(31) \quad \int_D q(X) dX = 0.$$

Proof. Let the operators T and V be analogous operators to those in Theorem 1. By (6) and (7) and by the assumptions of Theorem 2, the assumptions of Lemma 6 are satisfied. In virtue of Lemma 6 (20) holds. We express the trace of the operator B_ϱ by the sequence $\{\psi_n(X)\}$. We get

$$(32) \quad S(B_\varrho) = k \sum_{n=1}^{\infty} \frac{(V\psi_n, \psi_n)}{(\mu_n + \varrho)^{k+1}}.$$

By (6), (7) and (12) we have

$$(33) \quad S(F_\varrho) = O(\varrho^{\frac{m}{2}-3}).$$

In virtue of (5), (6), (20), (31) and (33), as in Theorem 1, we get

$$(34) \quad \lim_{\varrho \rightarrow \infty} \left\{ a^{1/2} \frac{\Gamma(k+1-m/2)}{k!(2\sqrt{\pi})^m} \varrho^{\frac{m}{2}-2} (q, 1) - o(\varrho^{\frac{m}{2}-2}) \right\} = 0.$$

Since $m \geq 4$, (34) is possible only when $(q, 1) = 0$ and it is equivalent to (31).

Using Theorems 1 and 2, we shall prove

THEOREM 3. *Under the assumptions 1° and 2° of Theorem 1 in the case of E^2 or E^3 , or under the assumptions 1° and 2° of Theorem 2 in the case of E^m ($m \geq 4$), if $\lambda_1 \geq \mu_1$, then $q(X) \equiv 0$ in D .*

Proof. It is known (see [3] or [5]) that

$$(35) \quad \lambda_1 = \min_{\varphi \in K} J[\varphi] = \min_D \int \left\{ \sum_{i,j=1}^m a_{ij} \frac{\partial \varphi}{\partial x_i} \frac{\partial \varphi}{\partial x_j} + q(X) \varphi^2 \right\} dX,$$

where K is the class of functions φ which are of class C^n_σ in D , satisfying the condition $\int_D \varphi^2(X) dX = 1$ (for a definition of a function of class C^n_σ ($n \geq 0$) see [3]). On the other hand, $\mu_1 = 0$ (cf. [3] or [5]), whence by

the assumption of Theorem 3, $\lambda_1 \geq 0$. Putting $\varphi_1(X) = |D|^{-1/2}$ in (35), by (25) or (31) we see that $J[\varphi_1] = 0$. It follows that $\lambda_1 = 0$ and $\varphi_1(X)$ realizes the minimum (35). Therefore the function $\varphi_1(X) = |D|^{-1/2}$ satisfies (1) for $\lambda = 0$ and the boundary condition (23) (cf. [3] or [5]). It follows that $q(X) \equiv 0$ in D .

Let us now denote by $\{\lambda_n\}$ the sequence of eigenvalues of equation (1) with the boundary condition

$$(36) \quad \frac{du}{dv} - h(X)u = 0 \quad \text{on } \partial D,$$

where $h(X)$ is a non-negative function defined and continuous on ∂D and let $\{\mu_n\}$ denote the sequence of eigenvalues of problem (1) (35) for $q(X) \equiv 0$ in D .

We shall prove the following

THEOREM 4. *Under the assumptions 1° and 2° of Theorem 1 or Theorem 2, if the first eigenvalue λ_1 of problem (1) (36) is equal to the first eigenvalue of problem (1) (23) and is equal to zero, then $q(X) \equiv 0$ in D and $h(X) \equiv 0$ on ∂D .*

Proof. By the assumptions 1° and 2° of Theorem 1 or Theorem 2, we infer (25) or (31). On the other hand (cf. [3] or [5]),

$$(37) \quad \lambda_1 = \min_{\varphi \in K} \bar{J}[\varphi] = \min_{\varphi \in K} \left\{ \int_D \left[\sum_{i,j=1}^m a_{ij} \frac{\partial \varphi}{\partial x_i} \frac{\partial \varphi}{\partial x_j} + q(X)\varphi^2 \right] dX + \int_{\partial D} h(X)\varphi^2 dS \right\},$$

where K is the class defined in Theorem 3. Let us remark that

$$\bar{J}[\varphi] = J[\varphi] + \int_{\partial D} h(X)\varphi^2 dS.$$

Since $h(X) \geq 0$ on ∂D , we have

$$(38) \quad \bar{J}[\varphi] \geq J[\varphi] \geq 0,$$

for all functions $\varphi(X) \in K$. Let $\varphi_1(X)$ denote the function which realizes the minimum $\bar{J}[\varphi]$, i.e., $\bar{J}[\varphi_1] = 0$. This gives by (36)

$$(39) \quad J[\varphi_1] = 0.$$

From (39) it follows that the function $\varphi_1(X)$ also realizes the minimum $J[\varphi]$. On the other hand, by Theorem 3 a function which realizes the minimum $J[\varphi]$ is a constant in D . Because the first eigenvalue of

problem (1) (2) is a single eigenvalue (cf. [3]), we have $\varphi_1(X) = \text{const}$ in D . This means that the function $\varphi_1(X) = \text{const}$ satisfies (1) for $\lambda = 0$ and the boundary condition (34). It follows that $q(X) \equiv 0$ in D and $h(X) \equiv 0$ on ∂D . This yields Theorem 4.

References

- [1] W. A. Ambarzumian, *Über eine Frage der Eigenwerttheorie*, Zeits. für Physik, Nr. 53 (1929), p. 690-695.
- [2] А. В. Бицадзе (A. W. Bicadze), *Красивые задачи для эллиптических уравнений второго порядка*, Moskwa 1966.
- [3] J. Bochenek, *On some problems in the theory of eigenvalues and eigenfunctions associated with linear elliptic partial differential equations of the second order*, Ann. Polon. Math. 16 (1965), p. 153-167.
- [4] — *Zależność równania różniczkowego cząstkowego od wartości własnych odpowiedniego zagadnienia*, Zeszyty Naukowe Politechniki Krakowskiej z. 15 (1968), p. 3-54.
- [5] R. Courant and D. Hilbert, *Methods of mathematical physics I*, New York 1953.
- [6] К. Фан, *On a theorem of Veyl concerning eigenvalues of linear transformations I*, Proc. Acad. Nat. Sci. 35 (1945), p. 652-655.
- [7] И. Ц. Гохберг и М. Г. Крейн (I. C. Gochberg and M. G. Krejn), *Введение в теорию линейных несамосопряженных операторов в гильбертовом пространстве*, Moskwa 1965.
- [8] М. Крзуżański, *Równania różniczkowe cząstkowe rzędu drugiego I*, Warszawa 1957.
- [9] Н. В. Кузнецов (N. W. Kuzniecov), *Обобщение одной теоремы В. А. Амбарцумяна*, Док. Акад. Nauk 146, 6 (1962), p. 1259-1262.
- [10] Б. М. Левитан и М. Г. Гасымов (B. M. Levitan and M. G. Gasymov), *Определение дифференциального уравнения по двум спектрам*, Uspehi Mat. Nauk 19, 2 (1964), p. 3-63.
- [11] В. И. Смирнов (W. I. Smirnov), *Курс высшей математики V*, Moskwa 1959.
- [12] E. C. Titchmarsh, *Eigenfunctions expansions associated with second order differential equations II*, Oxford 1958.

Reçu par la Rédaction le 5. 1. 1970